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Column Vectors

𝒂 = −2
5

and 𝒃 = 3
−1

.

Calculate the resultant vector 𝒂 + 𝒃.

𝒂 = 4
−3

and 𝒃 = −2
5
.

Calculate the resultant vector 𝒂 − 𝒃.

𝒂 =
4

−3
Calculate the scalar vector 3𝒂.

If 𝒂 = 3
2

and 𝒃 = −2𝒂

Draw vector 𝒃 on the isometric paper. 

𝒂 = 2
−3

and 𝒃 = −4
2
.

Draw the resultant vector 𝒄 when 𝒄 = 𝒂 + 𝒃.

Vectors 𝒂, 𝒃, 𝒄 and 𝒅 are shown on the gird. 
Write the column vectors of the following 

1) 𝒂

2) 𝒅

3) 𝒂 + 𝒄

4) 4𝒄

5)
1

2
𝒃

𝒂

𝒃 𝒄

𝒅



www.missbsresources.com

Column Vectors
Answers

𝒂 = −2
5

and 𝒃 = 3
−1

.

Calculate the resultant vector 𝒂 + 𝒃.

−2

5
+

3

−1
=

1

4

𝒂 = 4
−3

and 𝒃 = −2
5
.

Calculate the resultant vector 𝒂 − 𝒃.

4

−3
−

−2

5
=

−6

−8

𝒂 =
4

−3
Calculate the scalar vector 3𝒂.

3
4

−3
=

4 × 3

−3 × 3
=

12

−9

If 𝒂 = 3
2

and 𝒃 = −2𝒂

Draw vector 𝒃 on the isometric paper. 

𝒂 = 2
−3

and 𝒃 = −4
2
.

Draw the resultant vector 𝒄 when 𝒄 = 𝒂 + 𝒃.

Vectors 𝒂, 𝒃, 𝒄 and 𝒅 are shown on the gird. 
Write the column vectors of the following 

1) 𝒂

2) 𝒅

3) 𝒂 + 𝒄

4) 4𝒄

5)
1

2
𝒃

𝒂

𝒃 𝒄

𝒅

0

2

−5

1

−5

1

0

2
4

0
2

3

0

2
+

2

3
=

2

5

4
2

3
=

8

12
1

2

4

0
=

2

0

𝒂

𝒃

𝒂

𝒃

𝒄
𝒂

𝒃


